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Question Numbers : (1 to 20)



Nofte:

(a)
(b)
(c)

(d)

In questions numbered 1 to 20. a question 1s followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines:

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) 1f both the statements I and II together are not sufficient to
answer the question and additional data 1s required.

D232 1 D0G 20 HB5Y BD I 1993 (DF) Sed 2.8 (D9, 7 18O 1, 11 €9
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Sub questions

Question Number : 1 Question Id : 3944843746 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Find the values of x and y.

% y densden Eo8%h.08.
I  2x=3y

(I) 4’ +9y*=12xy

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 2 Question Id : 3944843747 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Is the triangle ABC, an acute angled triangle?

183250230 ABC 2,8 ©H0 Fa |B2502365°7

(I) The sides of the triangle are in the ratio4 : 5: 7.
es (320230 2023 DD )3 4:5: 7.

(IT)  The length of the longer side is 28 cm.
20 25230 Y 28 DO. .

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 3 Question Id : 3944843748 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If a is an integer. 100 < a < 200, then what is the value of a?

100 < a < 200 @0H:0) 2.8 T o080 a @ans, a Densdd Joeh?

(I) a gives remainder 5 when divided by 10.
ad 103 2P ST, 300 5.

(II)  ais divisible by 11.
113 a arfodadied.

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 4 Question Id : 3944843749 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many books were sold this month in your shop?

& W -
Q) TR0 & B 2R VSN €650 2CH0NTTON?

(I Last month 287 books were sold.
(B0cH¢3 T 287 )RS en 9:3007¢600T N .

(IT) The number of books sold this month was 2 times that of last month.
& TS’ 95502850065 )05 Hows |80e3 Ber easks=erdy
B0 BeY.

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 5 Question Id : 3944843750 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the height of the mountain?

DS 550 DED DOEH?

(D) The angle of elevation of the top of the mountain is 60°.
3 3 ced D) S 1800 60°.

(ID) The top of the mountain is seen from a point which is on horizontal line
with the base.

D 585 B0 0B § B2B20c08) 2.8 D00 HE b
FG0 oA rRE.

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 6 Question Id : 3944843751 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a,b,c are in geometric progression, thena +b +¢c=

abcHeEd S GoD.a+b+c=
@ a=7.

(II)  The third term of the progression is twice the first term.

€3 (3B 5°Q 5¢hS 3550, Bwcdhe3 BB S0 Bodko BE.

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 7 Question Id : 3944843752 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



‘What is the Mode of the frequency distribution?

BAIAIE a)2T 23 0ded) EFTVSE0 )0EH?

() The arithmetic mean is 58.

) @0EE £306300 58.

(I}  The total frequency is 100.
SN0 T: $d50 100,

Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 8 Question Id : 3944843753 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the percentage increase in profit of the company X in the year 2016 with
respect to that in 20147

20148 O 2016 S’ 2.4 0D X T ererS DEHHO FTSF0S?

(I) The profit of the company in 2014 was Rs.1 lakh. which is 10% more than
that in 2015.

2014 & €3 02D 7250 &7, 1 ©F T e 201565 e37250 S
10% €95580.

(II)  Company’s profit in 2016 was Rs.2 lakhs which was Rs.1 lakh more than

tht in 2014,

201665 08 7250 &, 2 ©F e 7. 201465 S ex2o
§o0y 6. 1 o8 edo.

Options :
1. %1
2.¥2



3.%3
4. % 4

Question Number : 9 Question Id : 3944843754 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let L be the set of straight lines in a plane. Is the relation S defined on L a reflexive
relation?
2,8 %050 'R HEF B> DB L 900, £ AE5D0H0ES

5023050 § HTHGNS0 H00HNBOT?

(1) I, I. EL

{IT) (llnpe § & L1 b

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 10 Question Id : 3944843755 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



How many students are there in the school?

TETeS D00 dslen daryB?

(I) Out of the total number of girls in the school. 25% belong to age group

below 10 years and these are 150 in number.

FETESD B0 2rOES 25% ZH06 1005y €5 B$E0xS
HNEaE DB DB Dogwe 150.

(IT) ~ The ratio of girls to boys in the schooli1s 5 : 7.

[ —
es JrdFred) 2rOEen, 2rend Homie AN 5 7.

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 11 Question Id : 3944843756 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the average of xand v 7

.7 @ QAT )0ed?

Options :
1. %1
2.2
3.%3
4, % 4



Question Number : 12 Question Id : 3944843757 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the area of the rectangular field.

&8 B |Rrsd 31850 D050 Ednshodk,

(I) The expenditure incurred in fencing along sides of the rectangle is
Rs.30000.

2z D026 0T BB 28 ) B 30000.

(IT)y  Cost of fencing per feet is Rs.500.
£33 @0cah 0w 5008 A &F. 500.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 13 Question Id : 3944843758 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Is the positive integer m divisible by 967

S 3T 080 m , 96 T oo ?

(I) m 1is divisible by 12.

12 T m 20D,

(IT) m 1s divisible by 8.

8 3 m 2NOH2CA.

Options :
1. %1
2. %2
3.%3



4.9 4

Question Number : 14 Question Id : 3944843759 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The arithmetic mean of integers r, s, f, 4, v is 100. Are exactly two of these integers
greater than 1007
SrTosen s tou v © e@0ddndso 100, ¢3S ) y¢bomr Bock

ST 05 100 £85) IOT GOETAT?

(I) Three of the integers are less than 50.

T3S ST FTTOSeN 50 ) 5%0).057T G5 oW

(IT)  None of these integers is equal to 100.

¢35 ) Hos 100 o Hrdo 5.

Options :
1. %]
2. %2
3.% 3
4.9 4

Question Number : 15 Question Id : 3944843760 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If p, g are positive infegers. 1s p a multiple of g ?

2. ¢ & ST oo, g g edezo p edehome 2

(I) Every distinet prime factor of g is also a distinct prime factor of p.

q 308y (5 DS (DS grof erado p o v DS,
Dol erala.

(II)  Ewvery factor of g is also a factor of p.
q By (He sderodo p { Srer sSeT o,

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 16 Question Id : 3944843761 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Anil has 3 credits cards A B and C. He owes balances on all the three cards. Does he

owe the greatest balance on the card B?

D 5 Tk (BAE sGen AB.C e 0. @) BAE sdhe HO
§°0e5 Qen (Dend) BB, @8 570 B 2 e0¢ht0ed )B0y05 2bfHen

(QEN) CeOT?

(I) The sum of the balances on card B and C 1s Rs.1350 which 15 3 times the
balance on card A.

B.C 3> Do Densd &5r.1350 @ 25 A Died> Densdsdo
3060,

(I}  The balance on card B 15 4/3 of the balance on card A and 4/5 of the
balance on his card C.

S B D aihen T 52 A 2 bhends 43 Soch, O C D
DDENEL 4/5 H0Eh),

Options :
1. % ]
2.2
3.%3
4. % 4

Question Number : 17 Question Id : 3944843762 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Is the standard deviation of the ages of students in class A greater than standard
deviation of the age of students in class B ?

S$E5A B S'Q Demsder H000Ie 10D herso €5 SEES A S
Qs HOHNI (EDVDOG0 DR GOENOL?

&

(I) The difference between the ages of any two students in class A 15 always

more than one vear.

5K A S 2 2% Deesdhes SaHd e BSo 2.4
09063¢8 350 85 080285 .

(II}  No student in class B is more than 6 months older than any other student.

35K BESR &) Des8 50080, 000 00 2e8S D8
S80S, 6 Beed Edy BT B,

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 18 Question Id : 3944843763 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Is n an even integer?

n 28 H8J0w; o ?

(I) 6n 18 even.

6 n c0B00RDE .

(II) 71n is odd.

710 232 Sop:.

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 19 Question Id : 3944843764 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If Z is an integer. what is the units digit of Z° ?

z 2 rTodRs, 225 .40 Trdody Q @08 dodh?

(I) Z is a multiple of 5.
5 Q3w 2.8 Medeso Z.
(I)  +Z is an integer.

VZ 2.8 oyrgrodo.

Options :
1. %1
2. %2



3.%3
4.9 4

Question Number : 20 Question Id : 3944843765 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 15 the ratio of discounted price of an item to its marked price?

2.8 o5eey) 50 HB%L o) |HEE3e e Ko (e V) DOoeh?

(I) The discounted price is Rs.4 less than the marked price.

%638 IeESy T SR B &> . 4 S80S .

(II)  Discouned price is 20% less than the marked price.
108368 Jerdmr) R 00D S 20% 550799,

Options :

1. % 1

2.¥2

3.%3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 394484380
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3944843766 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD



BACK: = FRONT:0921181723
(1) 05040614
(2) 05040613
(3) 05040612

(4) 040030614

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 22 Question Id : 3944843767 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD

SUWY : LPTX :: PRTV :
(1) INRU
(2) INQU
(3) IMRU

(4) IMQU

Options :
1. %1
2. %2
3.%3
4.v 4



Question Number : 23 Question Id : 3944843768 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

1.14.39. A35
(1) 32
(2) 83
(3) a4
(4) 85
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 24 Question Id : 3944843769 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD



A.D.IP.
(1) W

(2) X

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 25 Question Id : 3944843770 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD

(MR. 31): (KEM. 24) - (I1. 19) : (PR. )

(1) 34
(2) 35
(3) 36
(4) 37

Options :

1.¥ 1

2. %2

3. %3
4. % 4



Question Number : 26 Question Id : 3944843771 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

Reading : Knowledge :

IRV TATo SR To fv it (o I

(1) Running : Speed
HEoREdE0 : 3o

(2) Working : Experience
DD ONEI0 ; 0NN

(3) Travelling : Pleasure
|0 ES0TIE0 1 800

(4) Swimming : Water

&b T80 : DD

Options :
1. %1
2.2
3. %3
4. % 4

Question Number : 27 Question Id : 3944843772 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven



Square : Cube :: Circle :

HBG|D0 : N0 1 Yo :

(1) Tangent
336,02

(2) Chord

(3) Center

oo

(4) Sphere
Ao

Options :
1. % ]

2. %2
3.%3
4.9 4

Question Number : 28 Question Id : 3944843773 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven

MAN : LNZBMO :: SUN :
(1) RTTVMO
(2) RUTVLM
(3) PQTUOP

(4) TUVWOP



Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 29 Question Id : 3944843774 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

DI D

sequence and Series

e EAren, FraeD

MOUSE : KPSTC :: LIGHT :
(1) MGHFU
(2) MJHIU
(3) JGEFR

(4) JJEIR

Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 30 Question Id : 3944843775 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Problem Solving

D50R s AT

Sequence and Series

e ESren, Feaven



BAND : CUPF .. CARE:
(1) DUSB
(2) DUSI
(3) DUSA

(4) DUSC

Options :

1. % ]

2. %2

3.3

4, % 4

Sub-Section Number : 3

Sub-Section 1d : 394484381
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3944843776 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
B0 : 31 Aod 35 I6% e (B od HoFad6 Hlorhs.

(1) x*—3x+2
(2) x2—6x+6
(3) x> —7x+4

(4) x*—8x+16

Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 32 Question Id : 3944843777 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note : In questions numbered 31 to 35 pick the odd thing ount.
B0DE - 31 0B 35 385 e (D1 o8 HoFODE HioHsw.

(1) Kanchenjunga
5P 0T3O

(2) Appalachians
€935 YT O

(3) Satpura
@“eﬁ:ﬁ;}@

(4) Vindhya
DOAS

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 33 Question Id : 3944843778 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
Ba0DE - 31 od 35 38% e (S ed D006 Hlothsw.

(1) DG2
(2) EK5
(3) JR6

(4) RV3

Options :
1. %1
2. %2
3.3
4, % 4



Question Number : 34 Question Id : 3944843779 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : In guestions numbered 31 to 35 pick the odd thing ont.
5:500% - 31 o 35 585 e (D)o H0F06 Hiothsw.

(1) Gandhinagar

TodS(HD

(2) Pune
SrEd

(3) Itanagar

2ETSND

(4) Dispur
RV Vite)

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 35 Question Id : 3944843780 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : In questions numbered 31 to 35 pick the odd thing ount.
B0DE - 31 0B 35 385 e (D1 o8 HoFODE HioHsw.

(1) Bus depot
200 P

(2) Cinema hall
TARNVIPOR SV

(3) Railway station
BB WA

(4) Airport
)| FANO



Options :

1. %1

2.9

3.%3

4. % 4

Sub-Section Number : 4

Sub-Section Id : 394484382
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 3944843781 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.
KD 36 B 45 I5% Ko (Dfen & dSDS DoHIE)

3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.

0.5.0.66.0.75.0.80.
(1) 0.83
(2) 0.86
(3) 0.90

(4)1.20

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 37 Question Id : 3944843782 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.
BDDE36 DB 45 365 o (Do 2E 9SS JAhIFDY

3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.



2+ V5: 9+4+5; 38+ 17V5;
(1) 48 + 245
(2) 68 + 325
(3) 121 + 48v5

(4) 161+ 725

Options :
1. %]
2. %2
3.%3
4.9 4

Question Number : 38 Question Id : 3944843783 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

BDE 36 B 45 S6% o Hhen 2% 2038S Johardy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

D32. W34, 133, H30, E32
(1) P33
(2) Q31
(3) R32
(4) 031

Options :
1. % ]

2.¥2
3. %3
4. % 4

Question Number : 39 Question Id : 3944843784 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

= N
(1) 24
(2) 49
(3) 60

(4) 64

Options :
1. %]
2. %2
3.%3
4. v 4

Question Number : 40 Question Id : 3944843785 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.

fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy
Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

8.4.4, 8,32,

(1) 62

2) 36



Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 41 Question Id : 3944843786 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.

Mo 36 nd 45 S6%0 fe Hdyen ¥ od38Ea Adbdrdy
3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.

165. 195, 255, 285. 345.

(1) 435

(2) 37

N

(3) 420

(4) 390

Options :
1. %1
2.2
3. %3
4. % 4

Question Number : 42 Question Id : 3944843787 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern. cbserve the
same and fill in the blanks with suitable ones.

M 36 o 45 S6% fe (Hden 28 23838 Adbardy
TSNy on. 8 AGLSTR HHQ0D ROGHD HITTTOS TP
arooiod.



WSQ. SQM. QMK. MKG.
(1) KGE
(2) KGC
(3) KGB

(4) KGD

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 43 Question Id : 3944843788 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.

g 36 od 45 S6% Mo Hden 28 D)4TS AdhaArR
ey on. & DhSTR Mo HAChD NirmTes o
Jroodiod.

BC.EG.KM.
(1) QS
(2) SQ
(3) SW

(4) WS

Options :
1.¥1
2. %2



3.%3
4. % 4

Question Number : 44 Question Id : 3944843789 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite patiern. observe the
same and fill in the blanks with suitable ones.
fafE 36 cndd 45 S0%0 Mo BNd1en 28 203838 Adhdrdy

Fedurryon. & DObSTR FHQod HOGhD PHITTTOS TP
srooviod.

(1) 446, 710
(2) 447, 711
(3) 450, 710

(4) 445, 711

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 45 Question Id : 3944843790 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a definite pattern. observe the
same and fill in the blanks with suitable ones.
Mo 36 nd 45 S6%0 fe Hdyen ¥ od38Ea Adbdrdy

3Ny on. & DAhSTR Moo HACLD MirmTes o
Srfodiod.



100. 1001, 11001, 110001.
(1) 1100001
(2) 1110001
(3) 1111001

(4) 1111101

Options :

1. %1

2. %2

3.3

4. % 4

Sub-Section Number : 5

Sub-Section Id : 394484383
Question Shuffling Allowed : Yes

Question Id : 3944843791 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 48)



The following table gives the classification of 100 students based on the marks
obtained by them in Mathematics and Physics in an examination. Based on this

information. answer the questions from 46 to 48.

2.8 HOES K30 SHBSW TRE TS 100 Hod dosden
PH0DD S3rB03e> DS 180 HBE hod. & dSrmrdo
SISO 46 A0 48 HGBL e D480 Dadrerar©sdn.

Max. Marks 50 H8a) 5578071 50
40 and 30 and 20 and 10 and 0 and above
Subject above above above above 0 B0
DACHSD | 0B |30Bo 20080 | 1080 | eosdd)
080 | @08l | @085S) | @085 | H%015
D808 | D8 NI oI B0 &
Mathematics 9 33 80 92 100
fededo
Physics 5 21 GG 52 100
23 ess
7| QO
Average 7 27 73 87 100
e

Sub questions

Question Number : 46 Question Id : 3944843792 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of students scoring less than 40% marks in aggregate is

2030 S 40% 85 450309 Srrdazen rHoDD darsther Hogg
(1) 27
(2) 20
(3) 19

(4) 13



Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 47 Question Id : 3944843793 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The number of students scoring less than 60% marks in aggregate is

20050 20 60% &5y 350283 drduzen arSHodN Jrsdien Hows

(1) 71
(2) 72
(3) 73
(4) 74

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 48 Question Id : 3944843794 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The number of students scoring less than 80% marks, but more than 60% marks in
aggregate is
F0B0 A 80% L) SB02S, 60%35) D80S Srduen o

Dersdoe> Hos

(1) 24
(2) 20
(3) 16
(4) 14
Options :
1. %1
2.¥2
3.%3
4. % 4
Sub-Section Number : 6
Sub-Section Id : 394484384
Question Shuffling Allowed : Yes

Question Id : 3944843795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (49 to 53)



Based on the following bar diagram. answer the questions from 49-53.

Bodd 25520858 2D D0 eSO 49 0G 53 SO DATTTETeD
Q5 SOk

oy

E 250
£
E 8 200 200
&5 | 200
s » 150
= € 150
2
L=

90

E A 100 75
g 2 50
= ,% 50 -4
e
: i B
S 8 0
1]
) -
g £9) Spinach cabbage Tomato carrat  Cauliflower Braccoli  Pepper
= %

FoOSrs 5188 airs 88 sOHS6 @280 noairen.

Sub questions

Question Number : 49 Question Id : 3944843796 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The ratio of amount of Vitamin C in 500 grams of Cabbage to 500 grams of
Cauliflower is

500 (e 5752328 SR DS C &, 500 e 5ONHE & DS C &

Ko DD
(1) 7:20
@) 8:21
3) 6:19
4) 6:17

Options :



1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 50 Question Id : 3944843797 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many grams of Carrots you require to get 900 mgs of Vitamin C ?

900 &), (T30 DEIND € FOAETVE DAY M 525560 @5H307
(1) 950
(2) 900
(3) 1000

(4) 800

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 51 Question Id : 3944843798 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following vegetables gives maximum vitamin C ?

1808 Erdmrahed D& 382 2 NS & E6) Gotnod?

(1) 250 gms of Spinach 250 [[TPe0 e are55d
(2) 150 gms of Cauliflower 150 |[Ta000e) ?fﬁ%oﬁg
(3) 250 gms of Carrot 250 [P0 e 5°58&

(4) 300 gms of Cabbage 300 [T30€) 5252323



Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 52 Question Id : 3944843799 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A person consumed 150 gms of Spinach and 150 gms of Tomato on same day. The

amount of vitamin C (in m.gms) he consumed on that day is

2.8 825 2,8 558 150 [TTe500€) 8075, 150 [P0 E)557°¢) 0 e30ET .
& 23 e3650%) 305 DS € o (2 . )
(1) 135
(2) 130
(3) 125
(4) 120
Options :
1.¥1
2. %2
3. %3

4. % 4

Question Number : 53 Question Id : 3944843800 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The total amount (in m.gms) of vitamin C available in 500 gms of Pepper and 300

gms of Broccoli is

500 |TTs320€> BCSTEw, 300 e 298%) ') Jubo DS C (4.
(1) 1350
(2) 1400
(3) 1450

(4) 1500

Options :

1. % ]

2.% 2

3.¢¥3

4. % 4

Sub-Section Number : 7
Sub-Section Id : 394484385
Question Shuffling Allowed : Yes

Question Id : 3944843801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (54 to 55)

Using the following Venn diagram, answer the questions 54 and 55.
DS A0 SITEOTT 54, 55 204080 AT TR0,

A : Post graduates

) SE°BE HEIZS| Soen A A

B: Govt sector employees

1Daed s BoRoeS e sien

C: Contract employees
2308 €& stHen

™

Sub questions

Question Number : 54 Question Id : 3944843802 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The area that represents contract employees who work in government sector but not
post graduates is
1925 ¢ S0K0eS’D 2,508 S IHB o, ) HE°SE HEYS|en SR
AR 07 |NTHO

(1) a

2)b

B)e

(4) d

Options :
1. %1
2. %2
3. %3
4.v 4

Question Number : 55 Question Id : 3944843803 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The region that represents employees in the government sector who are also post
graduates is
o), S5E° S HE DB (525068 550506 BES I AT [DTBFO
(1)aub
2)bUc
3)aUbUc
(4HecUbUd
Options :

1. %1
2. %2



3.3

4. % 4

Sub-Section Number : 8
Sub-Section Id : 394484386
Question Shuffling Allowed : Yes

Question Id : 3944843804 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (56 to 60)
Read the following questions and answer the following
Sub questions

Question Number : 56 Question Id : 3944843805 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a code langnage. DISTANCE is written as IDTUBECN and DOCUMENT is written

as ODDVNTNE. How is THURSDAY written in that language?

€5 27AS. DISTANCE & IDTUBECN T 0805 DOCUMENT o%

ODDVNTNE 1T &0 §% T8, THURSDAY & )0 86 Tad 2

(1) DTVSTEYA
(2) HTTQRYAD
(3) HTVSTYAD
(4) HTVQTYAD

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 57 Question Id : 3944843806 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a certain code. MONEEY is written as XDIMNL. How is TIGEER written in that
code?

&5 270 S . MONKEY &% XDIMNL ™ §6 328, TIGER §6 550 2682

(1) QDFHS
(2) SDFHS
(3) SHFDQ

(4) UTHFS

Options :
1.v'1
2. %2
3.%3
4, % 4

Question Number : 58 Question Id : 3944843807 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If GOLD is coded as HOME., COME is coded as DONE, how would you code
SONS?
GOLD 3 HOME 7. COME % DONE T §&% Soh2&8. SONS §% H0
6 2
(1) TPOT
(2) TOOT
(3) TOOS

(4) TONT



Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 59 Question Id : 3944843808 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If CENTURY is coded as AGLVSTW, then the code for SACHIN 1is

CENTURY %0 8% 530 AGLVSTW @ous SACHIN % §6 D30 082

(1) UCAJGP
(2) UCEFGL
(3) QCAIGP

(4) QCAFKL

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 60 Question Id : 3944843809 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If DIAMOND is coded as VQYMELYV. how is FEMALE coded?

—_—

DIAMOND & VQYMKLV 7 §% Dwn. FEMALE dadomr &6
DODGBSE?

(1) TUMYNU
(2) UVNZOV
(3) UVNYNV

(4) TUMZOU

Options :

1.v1

2. %2

3.%3

4. % 4

Sub-Section Number : 9

Sub-Section Id : 394484387
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3944843810 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a certain code the word PHONE is coded as DMNGO. then BUILT is coded as

S50 PHONE & DMNGO 8% o . BUILT %0 €% 540

(1) UMIVC
(2) SKHTA
(3) UKHTC

(4) SMIVA

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 62 Question Id : 3944843811 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a certain code MASTER 1s coded as QISREL, then STUDENT 1is coded as

550 MASTER & QISREL ™ §% T« . STUDENT % §& Hddo

(1) SLHBASE

(2) SNIDASR

(3) SMICASR

(4) SMIDBSR
Options :

1. %1
2. %2



3.3
4. % 4

Question Number : 63 Question Id : 3944843812 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a certain code language the word PRINCE is coded as 144 and the word KING is

coded as 91. then in the same language MINISTER is coded as
D0 PRINCE &) 144 T HA0KING 091 e €6 T, MINISTER

% HSo

(1) 107
(2) 237
(3) 214

(4) 298

Options :
1. % 1
2.9 2
3. %3
4. % 4

Question Number : 64 Question Id : 3944843813 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a certain code langnage. the words ENGINEER and DOCTOR are coded respectively

as 29 and 15 then in the same language TEACHER is coded as

2.8 €5 H027AS° Hren ENGINEER. DOCTOR €0 &S¢0, 29,15 e
&6 T, TEACHER % §& oo
(1) 38
(2) 39
(3) 40
(4) 41
Options :
1.¥1
2. % )

3.%3
4. % 4

Question Number : 65 Question Id : 3944843814 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the word BANKER. is coded as LISCEP. then in PENCIL is coded as

$H¢50 BANKER & LISCEP ™ §85% S . PENCIL % §& 580

(1) GIPDOM
(2) DONRIP
(3) DOMQIP

(4) RIPOND

Options :
1. %1
2. %2



3.3

4. % 4

Sub-Section Number : 10
Sub-Section Id : 394484388
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 3944843815 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

&6, HSocho, eHofe DSien

If a person takes birth on 14® April. 1992, which was a Sunday, then on which day of

the week does his birthday fall in 1993?

DS, 14. 1992 3T S0 Fazed 2.8 558 2, 199365 FSocS &) e

3 3558 2309000 edehrob?

(1) Monday (1) &S0
(2) Tuesday (2) ot do
(3) Wednesday (3) e STE0
(4) Friday @) HEs50

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 67 Question Id : 3944843816 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

8L, DHAcHo, so%e Hlden



The angle between the minute hand and the hour hand of a clock at 3 hours 40 minutes
is
FPcs 5T E06S" 3.40 HaHOH0 eSS Kotrey, DaDare> nened

S0cds 8o

(1) 20°
(2) 70°
(3) 90°

(4) 130°

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 68 Question Id : 3944843817 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

&6, HSocho, eHofe DSien



The smaller angle between the two hands of a clock at 3.49 pm. in degrees is
& 349 JBaDAITS HAOTE0ST Koo HBM DSwaTred S DS

€00 (GfieeS)

o 1
(4) 179

Options :
1. % 1
2. %2
3.% 3
4.v 4

Question Number : 69 Question Id : 3944843818 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

26, Hlcho, eHefe HlSien



A woman pointing a man tells that his mother is the only daughter of my father. How

is the man related to woman?

2,8 057 2,8 A B BB sy BeT @OLVOD. ' €7 &
sy @y 38 Srehdy. & DB & HrY & D DA BY

D020 $Of Gy dw.

(1) Uncle R Yo lw
(2) Grand son SR
(3) Son SYR VN
(4) Nephew BTSN e

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 70 Question Id : 3944843819 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

&6, HSocho, eHofe DSien



A bus By arrives at a station S, 50 minutes late. but it arrives 30 minutes before another
bus B> which reaches the sation S 20 minutes early than its scheduled time 3.40 pm.

Then the scheduled time of arrival of bus B1 and station S 15

2.€ 2280 Br . WA S L. Dbes HhairdiTey 50 Ddwaren eerd5om
BEBGLD. ST O A S B0 Db BTN o83, 3. 40 T2 S 8
2030 B2 Z57) 30 DS0aTen S00% T3¢0 238708, 570 2380 B2 D
S & 20 Ddwaren SoT DHIGLE. @HI% AKX S L a0y B
TS Db HHEHo

(1) 020.1.30 pm
(2) 0.2.00 pm
(3) 02.2.30 pm

(4) 230.3.00 pm

Options :
1. % ]
2.2
3.%3
4. % 4

Question Number : 71 Question Id : 3944843820 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

8L, DHAcHo, so%e Hlden



A person starts from his house and walks 80 meters towards West. then he walks 60
meters towards his lett. then 80 meters towards West and then 40 meters towards South,
finally. he turns right and walks 50 meters. What is the horizontal distance covered by

him from his house? (in meters)

2,8 528 e85 0300 DARENTE HEBANS BT 80 V. SED), boares
600 . ABIBHT SBD @D HHDHS D) 8050, SB TE S0DHE 400,
S8 0 D) SATR. DIET L0BRD) B8R DT 500, NG, 0
505 20E300G €530 § 23 DATOBEOT SGDNS BT E0 (81 .) Ooch ?

(1) 140
2) 180
(3) 130

(4) 210

Options :
1. %1
2.% 2
3.%3
4.v 4

Question Number : 72 Question Id : 3944843821 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

&6, HSocho, eHofe DSien



Four persons A, B. C and D live in different towns which are located as

S5enMHB Sedoen A, B, C, D e rendd D&Y Hdererdd sddumry &,

e DTN (DDTEN S DO Loeo™) OW.

i} B is to the South West of A;
A 50 Toed Foddd B teady b,

ii) C 1s to the East of B and is also to the South East of A;
A %0 @) oDom. B 0 e C God.

iii) D is to the North of C in line with B and A;
C 50 ST G0t AB @ $D°0 B D &0,

What is the direction of A relative to D?

D& L0 Ao OFT GoH?

(1) North (1) &5

(2) East (2) )
(3) South West (3) e
(4) North East (4) E=F°050

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 73 Question Id : 3944843822 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



Ifa*b=ab+—+a+~ then(-1)* (2% 1)=

a*b=ab+—+a+ts ONS (-1)*(2*1)=

D -5

4 -6

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 74 Question Id : 3944843823 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

26, Hdcho, eHofe HlSien



If aAb =%+Eaﬂd a*b=ab —ibthen (1A2) *4 =

a&b=§+§&gﬁm a*b=ab+— 0N (1A2) * 4=

(1) 10
sl
(2) 9%

1
(3) 10

(4) 102
Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 75 Question Id : 3944843824 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Date, Time & Arrangement Problems

6, Dcho, @ode Hoien



Ifa @ b=a’+b.a@b=a’-b then(2@ 3) O 13=

a @b=a+P.aOb=a>-F @ons 26 3) O13=

(1) 1
(2) 2
(3) 3
(4) 0
Options :
1. %1
2. %2
3.%3
4.9 4
Mathematical Ability
Section Id : 39448456
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 394484389
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 3944843825 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e205ifeded aransed



fa(VxZ) +a(¥x)+c =0 then a®x2+b3x+c2=

a(VXZ) + a( Vx )+c =020008, a®x2 + h3x+ 0 =
(1) 3 abex
(2) 3 abe
(3) a+b+e

(4) 3abex’

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 77 Question Id : 3944843826 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e

If s,tarerational numbers such that (3772)° X (25%%)3% =432,

then 41— 5s=

(372)°X (253 =432 @dHIO st @G Hopgen

OO0, 4f— S5 =

(1) 153

281
15

(2)

154

()=

(4) 280

Options :
1. % ]
2.¥2
3.%3



4. % 4

Question Number : 78 Question Id : 3944843827 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetieal Ability
e00%iedes aradses

A bag contams the comns of denomination of Rs.5. Rs.2. and Rs.1 in the ratio of

2:3:5 respectively. If total value of the money in the bag 1s Rs.2100. then how

many Rs.5 coins are there in the bag?
2,8 DO SHHM™ 2 :3:5 DAIBS &P, 5. &P, 2 HOBPY &P, 1 e
5O BN Gor)on. & HoDS BnSo (Canjen) Dewsd Er. 2100

oS, TR D) BF. 5 TN GTE) 0N?

(1) 500
(2) 400
(3) 300
(4) 200

Options :
1. % 1
2. %2
3.% 3
4. v 4

Question Number : 79 Question Id : 3944843828 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



The shares of two persons P and Q 1 a company are in the ratio 3 ; 7. The company
gave each of them 20 additional shares. as a result of which, the ratio got altered to

1: 2. How many shares of company does Q now hold?

2,5 50 2% Se8en PQ© 2 3 1708 ey on. 008
oD eadsdomr TE 20 2 aDj08. SedOdomr e DANB 1 12 T

SPB06). $00R A3NE D) G Q O By ?

(1) 140
(2) 160
(3) 200
(4) 180

Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 80 Question Id : 3944843829 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



z | P — 2] —_——
I x= N}p F gt F 'Jp —Jp?+q® .thenx® + 3qx —2p =

3 T ———
xXi= JP ol pe P Jp— Jp? +q® ©@0ons, x* +3qx —2p =

Options :
1.v1
2. %2
3. %3
4, % 4

Question Number : 81 Question Id : 3944843830 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses

—=

Ifx= 3+ +2.then 3+ ig =
X

x= 3+ V2 ood ¥+ =

(1) 183
(2) 15V3
(3) 9v3

(4) 8V3

Options :



1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 82 Question Id : 3944843831 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees

The least values of x and y, respectively. so that 7x342y is divisible by 88 are
73342y e9m VoS 88 T 2rAoidS @3¢ 1, y EVR Densden

a0

(1) 1.4

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 83 Question Id : 3944843832 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A natural number m 1s multiplied by 11 and then 22 1s added to the product. The
result is a multiple of 17. Then the smallest value of m 15

28 D523 HoWE M oD 11 D HEI0D 22 DT HT,) DoWE 17 AWB0E) 2.8
HEFe30 oN®d m G0E) & Dewd

(1) 11
(2) 15
(3) 17

(4) 22

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 84 Question Id : 3944843833 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e

The smallest positive integer which 1s perfect square and is also divisible by
15. 18 and 25 13
15,18 2HBC5W 25 O 2rN0DHOE R Ao S0 JrTo%0o

(1) 450

(2) 600

(3) 900

(4) 625

Options :
1. % ]

2. %2



3.¢3
4. % 4

Question Number : 85 Question Id : 3944843834 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses

The smallest positive integer which when subtracted from 3000 1s divisible by

7,11 and 13
i v i . BB : i W .

3000 CO0G o) Eed A HOWIAD BBAN0 S ST Howg 7.11. 13
OB A0S @l 5D Dow:

(1) 1001

(2) 998

(3) 996

(4) 984

Options :
1. %1

2.¥2
3. %3
4. % 4

Question Number : 86 Question Id : 3944843835 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



If 3.812= E where p, g are positive mtegers with no commeon factors., except 1.
then 2g +p=
1 SPEOOTE Aredd g SPEETOSPED BR) G oJPQ oW p.q ~DOAID

3.812 =§ 0N, 2g+p =

(1) 959
(2) 794
(3) 564
(4) 380

Options :
1.¥1
2. %2
3.%3
4, % 4

Question Number : 87 Question Id : 3944843836 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e

: 2 : 354
If the reciprocal of the sum of the reciprocals of —, 5 18 when p, g are
=]

=1 |

2
q
positive mtegers with GCD 1. then 3g — 5p =

P.q e (5 FFOSED HOAW TS HT2® 1. 2=, = © DS DSV
0S50 TB0E DEF e 2 008, 39— 5p=

(1) 97
(2)  -1415
(3) 657
(4)  -1825



1. %1
2. %2
3.3
4, % 4

Question Number : 88 Question Id : 3944843837 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e005edes arased

The biggest number among the following is

(Bod ¢3S B Sows
\ﬁ =3 \,-"ﬁ — 21.-@, \-"'g — R R 21,."'5

(1)V5 -2

(3) V5 -2
(4)3—2v2

Options :
1.v1
2. %2
3. %3
4, % 4

Question Number : 89 Question Id : 3944843838 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
04536 araaSeeh



(1.73)2—(1.73)(1.27)+(1.27)? _
(1.73)34 (1.27)2

T |
(1) 2
(2) 3
(3) =

(4) 1

Options :
1.v 1
2. %2
3.%3
4, % 4

Question Number : 90 Question Id : 3944843839 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e051eded ara e

If p% of 96 1s equal to q% of 21, then Ei% of 5q 15 equal to
v

96 TBNE), p% T 21 TNE) q% K DSPGSN LonS 5q B0, 3—;%

Options :
1. %1
2.¥2



3.% 3
4. % 4

Question Number : 91 Question Id : 3944843840 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetieal Ability

e00%iedes aradses
When numerator of a fraction 1s inereased by 15%. and denominator 1s decreased by
8%. the fraction becomes E. What 1s the original fraction?
2,8 S0 035065 15% B3 TR, FE0 8% SN0VB0o IO TR

Densd E 0000, JVGE) B e EDI0 ed?

(1)

A~

| ]
P
|

(3)

=l | &

{4yt

iR o |

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 92 Question Id : 3944843841 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



A merchant purchases 11 bags for Rs.900 and sells 9 for R<.1100. Then profit

percent he gets 1n this business 1s

2.8 D 11 exdd &F. 900 §Q, 9 e 8. 1100 50 e057m28%.

SONS & TarSNeS B8 T ere TBS0?

4000
0y =
4000
. U it
(2) a1
L+ 4000
(3) g
4000
) 5
Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 93 Question Id : 3944843842 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e00¥iedes aradses



A person buys an article for a discount of 10% on its marked price Rs.1200. If. in

turn. he sells it for Rs.1200. then profit percent is

2.8 5558 2,855 R 1HESBSTOD EF. 1200 © 10% SHoHS

ETa0. e53) @ 3eWeYc EF. 1200 @50 @TP 3T ereiF edo?

(3) 103
(4) 10

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 94 Question Id : 3944843843 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



A person started a business with Rs.15 lakhs, After 2 months. B joined A as a partner
and after 4 more months C joined A and B as a partner. At the end of the year. they

shared the profits in the ratio 9 : 8 : 5. Then the ratio of the capitals of B and C was

28 5:8 A, 67 15 ©F© DENDHAE TS0 [BrE0D0TR. 2 TOO
55075, B 2,8 eltar sa0TT A 6 T30 . D00 SHT 4 Teored ebhared
AB ., O C 838500,  D055380 DSOS ) 91 8 1 5 e
eP2rerc DoTHEITT) G, @3¢ B SHO0MW € GRnE) R DA e

(1) 17 =13
(2) 21 =23
(3) 24 ;25
(4) 27 : 24

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 95 Question Id : 3944843844 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



The 1nitial capitals of two persons A and B 1n a partnership business are Rs.40 lakhs
and Rs.60 lakhs. respectively. After 4 months each of them invested Rs.10 lakhs. If
the profit at the end of the year 1s Rs.13.6 lakhs, then the difference in their profits in

lakhs of Rupees 15

2.8 &G TG0 QOB SeEeD A, B &0 oSEOM &F. 40, & 50
OF O EPGE0E DEPE T DEO. 4 TOO ebiayred 70 2,575,
G, 10 ©85 00 ) Db, D0SBITO erdio GF. 13.6 ©5 00N,
I8 everexd 23650 (050 SFaranered)

(1) 3.2
(2) 3.0
(3) 2.8
(4) 2.4

Options :
1. %]
2. %2
3.%3
4. ¢ 4

Question Number : 96 Question Id : 3944843845 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



Two pipes A and B can fill an empty cistern in 6 hours and 8§ hours, respectively.
After opening both the pipes simultanzously. pipe B is closed after X hours and A

filled the rest of the tank 1 4 hours. Then X =

2,8 9% $TYDH BO FEFen A SHOGM B €0 ST 6 0D OO
8 HoeroeS DoNHesy. Bodd FEren 2,370 8008 X Hokye Sorseh
FP&)e5 B SraN2y @06, e ST A 7enid ot Qodhs, X =

.8
(1) —

3) <

OF

Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 97 Question Id : 3944843846 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



97  Two pipes P1 and P2 can fill a tank in 15 nunutes and 20 minutes respectively. Both
the pipes are opened simultanecously. but after 4 minutes. pipe P1 is turned off. What

15 the total time required to fill the tank?

GO FTEPen P . Pre0 2,8 EPL050A0 0G0 15 Qadareyn 00in 20
DT DoNHD Dok FEren 2,370 6N 4 Aare Soeseh
)3 P; S0TRD W EP5050 DOETFRE D06 (o060 DEA0E?

(1) 10 minutes 20 seconds (1) 10 Qalaren 20 Tofcy
(2) 11 minutes 45 seconds (2) 11 DDETeN 45 EeD
(3) 12 minutes 30 seconds (3) 12 Daren 30 ED

(4) 14 minutes 40 seconds (4) 14 DT 40 DEQD

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 98 Question Id : 3944843847 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetieal Ability
e00%iedes aradses



. 2
Walking at Erd of my normal speed. I am an hour late to office. Then the normal

time I take i travelling to office 1s

GG S0 ) 2/3 Hoeh JH0H IPB Bed sUrEooirdE 1 o

SOILOT TEHOW. ST EOCITIE BRFSTVE T B0 5 HT

faN0ODO
. 1 _

(1) 1% hours = Hoeaen
(2) 2 hours 2 foeren
(3) 1% hours lfﬁo&}:m
(4) Indeterminate B0 Bw

Options :

1. %]

2.¥2

3.%3

4.% 4

Question Number : 99 Question Id : 3944843848 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees



: . 2 ; ! ;
The circumference of a cart wheel 15 4 = meters and it makes 7 revolutions 1n 4

seconds. Then the speed of the cart (in kmph) 15

2,5 208 VB0 OO 4% 2. ST 96 4 DENET 7 (BDHEPO TN,
e & 20 JHo (ffotrs 8.5, o)

(1) 27

(2) 30

(3) 32

(4) 40

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 100 Question Id : 3944843849 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



There are three workers Ram. Tom and Jill who take 3 hours. 2 hours and 4 hours
respectively. for manufacturing a toy by themselves. How long would it take if all
three workers worked together. (in hours)

2,8 0502050 SOITE DODTOE SHHH FOIHEY TS, S SO
2O ©5 SN 3 Hodren, 2 Hoeen HBC 4 Hoeded 0NN
DEDNOH. DONB e SNH O %en DD e HuH SaiFEH
TOVEE HEY DO Noeh? (HotrereS)

13
W5
@5

13
Ok

4
(4) 3

Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 101 Question Id : 3944843850 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



Three persons A. B and C working alone. can complete a piece of work in 10, 15.
and 40 days respectively. A and C started working together. after 5 days. C quits and

1s replaced by B, The number of days required to complete the work 13

S0MHE Se80en A, B, C o0 IADAT 2,8 DA ST 10, 15, 40 FerereS
0 TaHHEO®. A, C en £ DA ErS0doNS 5 Tared éare C
3OO JE™ & Ford) B & Hrd TAFrOISDI00. & HA o
DASHEH HEY Ferew

T
1) 6=

(2) 8%
(3) 10

@) 7
Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 102 Question Id : 3944843851 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



The smallest side of a right angled triangle 15 7 em less than the side of square of
perimeter 52 cm. The second largest side of that triangle 15 equal to the length of the
rectangle of area 72 sq cm.. whose breadth 1s 8 cm. The length of the largest side of

the right angled triangle 1s (in cms)

2.8 ©0250 (832023065 eoe8:065 DY) 2DHB0 TEO 52 V0. M. . DO
(10 RSN ZHBOET®) T V0. D). SBOLST GOD. s |B2H2reS D
DO 983 6 20230 2R 8 0. . JITe) BFTOLO 72 5. WO. M.
D BT BeAE (D GBI DIPN0. e (820230 ) eoebos O
250230 8PS (0. . o)

(1) V105

(2) V110

(3) V117

(4) V124

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 103 Question Id : 3944843852 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



The area of the four walls of a room 1s 128 sq.m. If the length. the breadth are equal
and the height of the wall is equal to 4 meters, the area of the floor of the room (in
5q.m) 1s

2.8 A0S’ Trenth Fde JFcerso 128 . FFide) artsed Sehenjen
BATEEN SHOGID s D8 4 . ond, T FF:0 (.. ©F)

(1) 64

(2) 72

(3) 81

(4) 100

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 104 Question Id : 3944843853 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e05ieded araGees

The diagonal of a cube is 64/3 meters. Its volume is (in cubic meters)

2,5 DSy DEBO 6V3 . TR NONBSTEIO (505 DoeaseS)
(1) 225
(2) 216
(3) 206

(4) 196

Options :
1. %1



2.¥2
3. %3
4. % 4

Question Number : 105 Question Id : 3944843854 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses

If curved surface area of the cylinder with 5 meters height 1s 220 sq.mts. Its volume
(in cu mts) 1s

530, ENFO 28 AFHN0  JHESS JFTOLO 220 .. oS, T

DSDOSTEIO (6.9, ©65°)

(1) 770
(2) 760
(3) 740
(4) 780

Options :
1.1
2. %2
3. %3
4, % 4

Question Number : 106 Question Id : 3944843855 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e051eded ara e



The ratio of diameter to height of a right circular evlinder 15 6 : 5. If the diameter gets
reduced by 25%. then its total surface area 1s reduced by 338.25 squmeters. Then the

circumference of the base of original cylinder 1s

2,8 AFHO TIrRE. DBl DA 6: 5. TP N0 25% HHR TR

D0 Gehe> IT206 338.25 500 SN0, edden APH0 ETHd6

(1)8vV2m

(2)6NT @

—

(3) 4V5
(4) 7\/3m

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 107 Question Id : 3944843856 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e20¥tiedes arondses



A circular tent with a cone on top is to be constructed as shown in the given diagram.

The canvas (in sq.m) required to erect the tent is

2.8 FITSGY HES0, @S50AN HL0S EDHSED, A0 D ¥
FOHDODSENHYD. e HIE5D DBIOHO® SDEHTDS HE
(25.80)

Sm

(1) 44 3m

(2) 48 7 i
(3) 40 7

4) 527

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 108 Question Id : 3944843857 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e00¥iedes aradses



193m> of water is poured in a tank having a square base. The water reaches a level

that is three times the length of the base. Then arca of the base is (in m”)

BASETS S eoctDer™R) 468 2.8 83 8 1935% & 3D 0.
ONSE TOHS D3 DGO & Ersodd D 2Ty 2H2B0 PG5 3
DAY, e e 271 37050 (.2 T

(1) 9
(2) 16
(3) 25

(4) 36

Note: For this question, discrepancy is found in
question/answer. So,this question 1s ignored for all
candidates.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 3944843858 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
e20¥tiedes arondses



Convert (102)7 into decimal representation.
(102)7 85 ST 0F 5050 S°8 St 5.

(1) 53
(2) 52
(3) 51

(4) 50

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 110 Question Id : 3944843859 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetieal Ability
e00%iedes aradses

If [x| = 2. which one of the following has the largest (greatest) possible absolute value?

& 1800783 DO K =2 S K05 DB rezan 4O &oenoh?

(1)3x—1
(2) k%2 +1
(3)3—x
(4) x* —x

Options :

1.¥1

2. %2

3.%3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 394484390
Question Shuffling Allowed : Yes



Question Number : 111 Question Id : 3944843860 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz

The converse of the followmg statement 1s

“If a triangle 1s equilateral then it is 1sosceles’

“2,8 18320230 D0 2730 (8320230 @01 S @O DO 52TV (8320230" ©®
2o eT 8 aden 00

(1) If a triangle 1s 1sosceles then 1t 1s equilateral.
2,8 18320230 DD 20 (8320230 @00 @) Ha2reTU (8820230 |

(2) If a triangle 1s not isosceles then it 1s not equilateral.
2,8 18320230 o0 52TV (320230 TESFS @B DTV 8380250
SN

(3) If a triangle is equilateral then it 1s 1sosceles.
2.8 1€3290230 D020 (320220 0N @8 NG [T |6320230.

(4) If a triangle 1s not equilateral then it is 1sosceles.
2,5 8320230 NNV |e320230 SETFS e D0 1230 (€322 0.

Options :
1.¥1
2.% 2
3.%3
4. % 4

Question Number : 112 Question Id : 3944843861 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz



Which one of the following statements 1s true?

1808 (HS5BTOS’ DO Heb30?

(1)3X5=8A1X3=6
{1}3+5=8f\l}{ﬂ=l[}
(33 + E=8BA1L2=3
(4'_}2+4=6f‘\4+2 ==

Options :

1. % 1

2. % 2

3.¢3
4. % 4

Question Number : 113 Question Id : 3944843862 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed

If A, B, C are scts. then (A-B) — (B—C) =

A B, Cen BB (A-B)-(B-C)=
(1) A-(BUC)
(2) A-(BNC)
(3) A-C

(4) A-B

Options :
1. % 1
2. %2
3. %3
4. ¢ 4

Question Number : 114 Question Id : 3944843863 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes

o - S@-F0) _
Forx# -1. define f(x) e then TR
)= 2 | x#-1 wong, [T _

X1 1+f(x)f (V)

(4) 1

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 115 Question Id : 3944843864 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2rs2nsah ardnd)zeb



If f:R —-Rand g: R — K are functions defined by f(x) = 3x — 2 and
g(x)=x>+1 then (gof ) (2)=

AT R 2 RHDOCM g: R 5 R, fix) =3x—2 0005w
gx) =3 +1 OB AGLD0DVES e (gof ) (2) =

=
@)=
(3) =
4) =

Options :
1.v'1
2. %2
3. %3
4. % 4

Question Number : 116 Question Id : 3944843865 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 0ach e

The equation of a line perpendicular to y = 3x+1 and passing through (1. 1) 15
(1, 1) DO FAT y = 3x+1 50 OO0 SOT DGFTD SIS0
(1) 3p+x=12

(2) y+3x=4

(3) 3y+x=4
4) 3y=x+2
Options :
1. % 1
2. %2
3.¥3

4. % 4



Question Number : 117 Question Id : 3944843866 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes

A line makes intercepts g and b on the coordinate axes such thata+b=5and ab=6
The equation of such a line 15

a+b=500050 ab=6 e(DOLY AEFHTTOH 2 )G IGT @0edS POTEED

a, beD @on® & HEFTY Hanidao

(1) 3x—2y+6=0
(2) 3x+2y+6=0
(3) 3x—2y—-6=0
(4) 3x+2y—6=0

Options :

1. % 1

2. %2

3.%3
4.9 4

Question Number : 118 Question Id : 3944843867 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb

Cot (—840% + Cosec (330%) + Sec (1020°%) — Sin (—1320°% =

i
(1) 5

(2) 243

(3) -2v/3

=

(4) ==

2\."5

Options :



1. %1
2. %2
3. %3
4.¥ 4

Question Number : 119 Question Id : 3944843868 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes

7 m
ot 2

5
tan”

w |
+
L #]

T I
— —sec —+ 8B cos
4 3

Options :
1. % ]
2. %2
3.3
4. % 4

Question Number : 120 Question Id : 3944843869 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



IfA+B =§ .then (1 + tanA) (1 + tanB) =

A+B =§ @0, (1+tanA) (1+tanB)=

4) 2

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 121 Question Id : 3944843870 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



A man walking away from the foot of a cliff 150 meters high observes that it takes 2
minutes to change the angle of elevation of the top of the cliff from 60° to 45%. His
walking speed in kmph 1s

2.8 0528150 Y DeBiie 2.8 Tod et 2riichn Hod S

B 2 DT Soreed e F00 60°© Do 45° & SNOED
HD0TTR. e S8 Ko (S e/ foLrod)

94343
(1) 22
4y 9—=3V3
(2) 23
a(1+33)
(3) T
n 303-1)
(4) 252
Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 122 Question Id : 3944843871 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 0ach e



If @ and f are two roots of the equation ax? + bx + ¢ =0, then @ + f and @ f are
respectively

ax?+bx+c=0 O30E) HFEreN a,f ©ONS, a+ f DO ap ew

ST
b «¢
(L)~
. b -
i TSI
{-}a "a
-bh -
Gz
-b
e
Options :
1. %1
2. %)
3.%3
4.9 4

Question Number : 123 Question Id : 3944843872 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



If a,fB,y are zeros the polynomial of ax® + bx® + cx + d, then the polynomial

1
whose zero are —.
o

™|
= =

D00  ax?®+bx?+cx +d TBE) Tren a, 8,7 €0 ©SONS,

|-
| =
= |

Arorsen e 25000

(1) bx®+cex?*+dx+a
(2) ex*+dx*+ax+b
(3) dxl+ax®+bx+c

4) dx*+cx>*+bx+a

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 124 Question Id : 3944843873 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



The remainder when f{x) = 4x® —3x + 9 s divided by 3x — 2115

fix)= 4x® —3x 49 &0 3x— 2 2RO 53 Feasdnd

1)
(

@ ()
@ f()
@ r(-3

Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 125 Question Id : 3944843874 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes



If px®+ gx+ 17 leaves remainder —35. 13 when divided by
x—5x+7, respectively. Then 3p—q =

px2+gx+17 & x—5 x+7 O rAoDGN) I ST Faren

—5, 13 @onsd, 3p—gq =

35

(1) =

47

% Tt

(2) 42

; 38

(3) e

42

(4) o

Options :

1. % 1
2. %2
3.43
4. % 4

Question Number : 126 Question Id : 3944843875 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



Wishal’s age 1s at present four times the age of Jahnavi. After 8 years. Vishal's age
will be 2.5 times Jahnavi’s age. In another eight years. how many times will be

vishal’s age. as compared to Jahnavi's age?

(220050 0B IO, 2757 6 o300 50 ren(h BLY, 8 H0Sed yTred
SETeS, DFO SOH)) 27T D) DN B 2.5 BLW &0EN0D. 00,
T AW H0HBITED STELh  DFS DO, BT SN
aded) DD 500007

(1) 1.5
(2) 2
(3) 2.5

(4) 3.25

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 127 Question Id : 3944843876 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 080D e



. 1 " .
A rational number becomes . when 7 is subtracted from the numerator and 3 15 added

to the denominator. The same number becomes 2 when 1 1s added to the numerator

and 7 1s subtracted from the denominator. The number 1s

2,8 e5GEIAD HOPS, OISNNOG 7 BVJD HOA FTVE 3 FEH

2956000, @B HOWE @05 1 DD HOA SPEM0G 7

BVIADMT & DO 2 oS & EGHah dow;

(1) =
@5
(3) =
@ =

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 128 Question Id : 3944843877 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz



The sum of eight terms of an A.P. is 316 and the difference between the first and the

cighth terms 1s 91. What 1s its first term?

2.8 @0838 & 8 HT© IJ0SBHD 316, 165 HOCIL 85 D> 235w 91
0N, 0 3G TI0E) Tcsed HEH IO 2

(1) 85
(2) 74
(3) 69
(4) 48
Options :
1.¥ 1
2. %2

3. %3
4. % 4

Question Number : 129 Question Id : 3944843878 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2 00H Tz

If 5 times the 5% term of an AP. is equal to 13 times of its 13 term, then the 18%

term of the A.P. 1s

2.8 e90BAG & 555 HASVHEL 5§ BEY TR 1365 HEAWSZY 13 BEW ¥
DA 00N, @odFR 030818 DM

(1) 36

(2) 18

(3)9

(4) 0



Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 130 Question Id : 3944843879 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb

What is the number of terms in the expansion of (a® + 2ab + b*)1%?
(@® + 2ab + b2 JVET Hre Hows?

(1) 21

(3) 19

(4) 20

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 131 Question Id : 3944843880 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb



12
. N . R
The coefficient of x ™2 in the expansion of (21‘2 2 —) 15
X

1\12 v £ .
(2x2 +;) DG x—3 G3wE MHeaddw

(1) 1862
(2) 1952
(3) 1830

(4) 1760

Options :
1. % 1
2. %2
3.%3
4.v 4

Question Number : 132 Question Id : 3944843881 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 272000 e

2 b - 4a 4b7.
e T
If A [(' d] and |A| =35, then the determinant of [3(.' ]

3d 15

A=[‘; 2] X000 |A]= 5 ©onS, [g? gg] DT HESIN

(1) 15
(2) 20
(3) 24

(4) 60

Options :
1. % 1
2. %2
3. %3
4. v 4



Question Number : 133 Question Id : 3944843882 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, 2ol i zes

0 0 1 -1 0 0
IfA=|0 1 OlandB=|0 -1 D],Then.&ggBlm—:—B%Amﬂ=
1 0 0 0 9 -1
0 0 1 -1 0 0 )
A=lo 1 o|lHBcswB=|0 -1 0 |ecns A¥YBI® +BBAI00 -
1 0 0 0 0 -1
(1) AB+BA
(2) A*+B’
(3)A+B
4) A+B+1
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 134 Question Id : 3944843883 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed



. XX
lim ——
r—1 vx—1

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 135 Question Id : 3944843884 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
D8od, 2 uedalh ardsed

2

. % A i i

The denvative of f(X) = %15
=

x%43

f(x) =

QBNE} 29205023200

x—1

Jo — [(x2+3)

(x—1
-

oy (2—1)22 — (x%+3)
=) (x—1)2

(x+1)x — (x%+3)
(3) (x-1)*
(x—1)2x — (x2-3)

{(x—1)*

(4)

Options :
1. % ]
2.¥2
3.%3



4. % 4

Question Number : 136 Question Id : 3944843885 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed

In the adjacent figure AD is the bisectorof LA. AC =
() DN LA TB0E) DO 00BN B AD e900® AC =

w3
(112
(2}5§
(3)7%

(4) 82

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 137 Question Id : 3944843886 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



In the quadrilateral LMNP shown below. PN =8, MQ L LN and MQ = 6. If the

area of ALNP = 32. then the area of ALMN =

Q83 DD DN IS8 LMNP ¢, PN = 8. MQ L LN

DO MQ =6 LNP (32023 JIF°550 = 32 @ond, LMN (e32D23
ST I =

(1) 242
(2) 2443
(3) 32

(4) 24

Options :
1.v'1
2. %2
3.%3
4. % 4

Question Number : 138 Question Id : 3944843887 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, esnedod ardudsed



In the adjacent figure, the length of the tangent PT given that OA = 15 cm and AP =
10 em ( in cm) is

8 HO3NES 0A=1500G5D AP=10 e N, H35) B PT Ty
Y (0. ) o

(1) 25
(2) 22
(3) 20

(4) 18

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 139 Question Id : 3944843888 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DB, arsiueoh ardndzeb



If the point (1.4) 1s the centroid of a triangle ABC with verticies A(4, -8). B(-9. 7).
then the distance AC 1in units 15

$I0EY (1. 4) @A A(4. -8), B(-9. 7) FTen #e) 183202350 ABC MHoes ¢
SO0 @ond  AC (GRS =

(1) V286

Options :
1. % 1

2.% 2
3.%3
4.4 4

Question Number : 140 Question Id : 3944843889 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA, 2rsnedad e

The points A (2, -3). B(6. 5). C (-2.1) and D(-6. -7) form
A (2.-3). B(6. 5). C (-2.1) B0 D(-6. -7) DOHYeI JSHITE
(1) Square (1) Lend|Ho
(2) Rectangle @) ASed|Ho
(3) Parallelogram 3y 55350 0e58 et )22eim
(4) Rhombus @) H% T55E 3250

Options :
1. % 1



2. %2

3.%3

4.9 4

Sub-Section Number : 3
Sub-Section Id : 394484391
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 3944843890 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o o e ses

If the arithmetic mean of @, b, 7 is 13. then the arithmetic mean of
at+3. b-5and61s
a, b 7 © ©0%0GHDN 13 oS, a + 3. b - 5 HOA 60
29050 £ Oed
(1)
(2) 10
(3) 12

(4) 16

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 142 Question Id : 3944843891 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

Ao SE M AT e



Median of the data 14.2.8,5.12.4.1.16.31s

COT040 14, 2.8, 5,12, 4. 1, 16, 3 O30E) 0830

(1) 5
(2) 8
(3) 11.5
(4) 12

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 143 Question Id : 3944843892 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Abilicy
o o e ses

What 15 the Mode of the following data?

&2 1808 STP0450 C30E) U FEAD 065?

Observations 1 2 3 4 5 6 7 8
503563

Frequency 4 9 16 25 22 15 |7 3
ST 08 ad)e0 £ o)

(1) 4
(2) 5
(3) 3

(4) 6

Options :



1.¥1
2. %2
3.%3
4, % 4

Question Number : 144 Question Id : 3944843893 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o o e ses

The standard Deviation of the following 13 observations is

73, T 78, .85

&1 806 13 HOIODE TJNE) (8 DIOFS0
T3, T4, T8 285

(1) 17
(2) 14
(3) V17

(4) V14

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 145 Question Id : 3944843894 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o iE o aranQ e



If ¢ 1s the standard deviation of the observatins x;, x5, ... ,x,, then the standard

deviatiomof 12x; +13,12x,+13,... ;12x,+13 is

Xyy Xgs oo 1 X DOFOIO 1ED DIOISD 0 ©ONS,

12x; + 13,12x, + 13, ... .12x, +13 © Q305 150 duderadadw

(1) 120
(2) 0 —13
(3) 0+ 13

(4) o

Options :
1. %]
2. %2
3.%3
4.9 4

Question Number : 146 Question Id : 3944843895 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Srtatistical Ability
O ST P 565



A computer, while caleulating the correlatin coefficient between two variables X and

Y. obtained the following results:

N=25Yxr=125 Yy=100, Yx?=650, Yy? =460 andY xy =508
x v

At the time of checking, it is found that it copied two pairs of observations as 6 | 14
g%
x| ¥
in the place of correct pairs 8 | 12. The correct value of the coefficient of correlation
6] 8

Fis

2.8 feadd 0D oI (Bogridad) Bodh SOTdH® NEE Do o0
hea¥o e80Ty )¢ & 1Bod HETren STE0w.

N=25.Yx=125 Yy=100 .Y x2=650, Yv2=460, Y xy=>508

X |y x|y
$DE TS DA 2.8 HOFOD[E HBTDS 2368 8 | 12 Fo 230N 6 | 14
618 316

I SB0°¢0 TDOHDAIEVT HOR, H° oD MHEIEIN r TBE) HOTS

JCDed

(1) 056
2) 062
(3) 067
4) 072

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 147 Question Id : 3944843896 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Abilicy
oo Qs



A and B are two events such that P(A) = ; P(:Iﬂ B) =% and P(A[]B) =§ ;

ther Pfr: UB)=

P(A) =2. P(ANB)== P(ANB) =7 eah§ew B0k snéden A HOAD B
eond@ P(AUB)=

1

(1} =

(i
1

@3
@3)
@)

da o Wl

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 148 Question Id : 3944843897 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Srtatistical Ability
O ST P 565

Three dice are rolled. What 1s the probability of getting a total of 5

S e DoV ON. SONS, TN 5 TIPS Do s
(1)<
B
(3) =

(4) =—

216

Options :



1. %1
2.¥2
3.%3
4, % 4

Question Number : 149 Question Id : 3944843898 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o o e ses

If P(A)=0.7. P(B)=0.45 and P(4 U B) = 0.6, then P(AUB) =
P(A) =0.7. P(B) = 0.45 200050 P(A U B) = 0.6 @000, P(AUB) =

(1) 0.75
(2) 0.85
(3) 0.40
(4) 0.60

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 150 Question Id : 3944843899 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability
o o e ses



A box has 5 white and 2 red balls. Another box has 3 white and 4 red balls. One ball
1¢ randomly selected from the first box and 1t 1s transferred to second box. Then one

ball 1s randomly drawn from the second box. The probability that 1t 15 red 1s

2.8 2B’ 5 Ben HOAD 2 S oden Eorg. oS DY’ 3
SBeWo) OO 4 D) 20D 035, THES W NoG 2.8 20830

ASPEYDJEOTP DODETA A B0 DEETE S8 j0B00. ewond
2,8 20888 O3 D EOTF B0 D 0B SR 9B D) 208 e9d3§

002 fed
. 15
(135
22
(2) 16
()
5
4y
Options :
1.v 1
2.% 2
3.%3
4. % 4
Communication Ability
Section Id : 39448457
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 394484392
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 3944843900 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Ordeal

(1) Deal
(2) Task
(3) Order
(4) Offer

Options :
1. % 1
2.92
3. %3
4. % 4

Question Number : 152 Question Id : 3944843901 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Acumen

(1) Dullness
(2) Hesitancy
(3) Lethargy
(4) Sharpness

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 153 Question Id : 3944843902 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Novice

(1) Writer
(2) Poet

(3) Expert
(4) Beginner

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 154 Question Id : 3944843903 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Timorous

(1) Feartul
(2) Fearsome
(3) Fiercely
(4) Violent

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 155 Question Id : 3944843904 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Tacit

(1) Sober

(2) Sluggish

(3) Silently understood
(4) Spurious



Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 156 Question Id : 3944843905 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Burly

(1) Puny
(2) Well-built
(3) Small
(4) Huge

Options :

1. %1

2.¥2

3.%3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 394484393
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 3944843906 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

11 the idea of democracy 1s the notion of individual liberty

(1) Impassive
(2) Indolent
(3) Implicit
(4) Incarnate

Options :

1. % 1

2. %2

3.3



4. % 4

Question Number : 158 Question Id : 3944843907 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

After retiring from the armiy, he missed the of tellow soldiers.

(1) Friendship
(2) Consanguinity
(3) Conservancy
(4) Curtain
Options :
1.v 1
2. %2
3. %3
4. % 4

Question Number : 159 Question Id : 3944843908 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The Judge told the convicted man that he would come to his decision to
commit the crime.

(1) Rue

(2) Venerate
(3) Appease
(4) Allay

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 160 Question Id : 3944843909 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

An unexpected piece of good fortune is

(1) Downfall
(2) Windfall
(3) Rainfall
(4) Fortuitous

Options :

1. % ]

2.¥2

3.% 3

4. % 4

Sub-Section Number : 3

Sub-Section Id : 394484394
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 3944843910 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Decrease i value of an asset over a period of time 15 called

(1) Loss
(2) Demand
(3) Depreciation
{(4) Appreciation
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 162 Question Id : 3944843911 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



The speed of a supercomputer is measured in .

(1) GIPS
(2) Mhz
(3) Ghz
(4) FLOPS

Options :
1. % 1
2. %2
3. %3
4.v 4

Question Number : 163 Question Id : 3944843912 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A computer program that performs tasks that the user wishes to perform 1s known as

(1) Animation

(2) Application software
(3) Antivirus software
(4) Affiliate

Options :
1. % ]
2.¥2
3.% 3
4. % 4

Question Number : 164 Question Id : 3944843913 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



The list of events to be discussed or done at a meeting or business event is called

(1) Agenda
(2) Minutes
(3) Deed
(4) Document
Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 165 Question Id : 3944843914 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A type of computer that can be carried easily and which has no physiecal keyboard or
track pad 1s known as .

(1) Personal computer
(2) Gnome

(3) Desktop
(4) Tablet
Options :
1. # 1
2. %2
3. %3
4.4 4

Question Number : 166 Question Id : 3944843915 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A reduction in expenditure 1s known as

(1) Cutback
(2) Cutdown
(3) Cut price
(4) Cut out

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 167 Question Id : 3944843916 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

The four Ps of Marketing are expanded as

(1) Product. Price. Place. Promotion

(2) Person. Performance. Public, Position
(3) Port, People. Produect. Persuasion

(4) Plant. Production. Promotion. Plan

Options :
1.v ]
2. %2
3.%3
4. % 4

Question Number : 168 Question Id : 3944843917 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Language designed specifically for scientific computing is

(1) PASCAL
(2) COBOL
(3) FORTRAN
(4) C++

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 169 Question Id : 3944843918 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Classical organization theory looks at an organization

(1) As a liberal system
(2) As a machine
(3) As a tall structure
(4) As a production process
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 170 Question Id : 3944843919 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



The process of motivating employees to retire from the service prematurely by
paying them substantial cash 15 called giving

(1) Pink Shp

(2) Grand Send-off
(3) Gratuity

(4) Golden Handshake

Options :

1. % 1

2. %2

3.%3

4.v 4

Sub-Section Number : 4
Sub-Section Id : 394484395
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 3944843920 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A person whose abilities are not fully known

(1) A damp squib
(2) An eyesore
(3) A dark horse
(4) A black sheep

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 172 Question Id : 3944843921 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A: *The curtains look faded. Should we change them?”

B: “Money doesn’t grow on trees.”
BT

(1) Agreeable
(2) Thrifty
(3) Lazy

(4) Indifferent

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 173 Question Id : 3944843922 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Switch on the computer. (Change the voice)

(1) Computer 1s switched on.

(2) Computer was switched on.

(3) Let the computer be switched on.
(4) He let the computer to switch on.

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 174 Question Id : 3944843923 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



A: “Have you taken up vour new job?’
B: ‘Not yet. I am made to cool my heals as my boss is undecided about my
assignment.”

In this conversation ‘B’ implies that he

(1) Is prevented to take up new job
(2) Is kept waiting
(3) Is made to relax
{(4) Is made to repent for his mistakes
Options :
1. % ]
2.¥2
3.%3
4. % 4

Question Number : 175 Question Id : 3944843924 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

A: Naveen looks quite happy these days
B: Why wouldn't he be! His marriage 1s on the cards.

‘B" implies that Naveen’s

(1) Marriage 1s likely to happen
(2) Marriage 1s predicted by an astrologer
(3) Marriage has been celebrated recently
(4) Marriage proposal 1s likely to crop up.
Options :
1.¥1
2.% 2
3. %3
4. % 4

Question Number : 176 Question Id : 3944843925 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



After retirement. Mr Mishra 1s thinking of resting on his oars.

The underlined expression means

(1) Depend on his savings

(2) Rest after hard work

(3) Cashing on his vast experience
(4) Settle 1n a foreign location

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 177 Question Id : 3944843926 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

This has to be done by next week. We must get our act together before it is too late.

The underlined expression means

(1) Be more organised
(2) Be punctual
(3) Work hard
(4) Put a play together
Options :
1.¥ 1
2. %2
3.%3
4. % 4
Sub-Section Number : 5
Sub-Section 1d : 394484396
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 3944843927 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



Every now and then she would a remark.

(1) Put out
(2) Putup
(3) Put off
(4) Putin

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 179 Question Id : 3944843928 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

My daughter along with her children to watch a movie about animals and
their habitats

(1) Is going
(2) Be going
(3) Will going
(4) Are going

Options :

1.¥1

2.% 2

3.%3

4. % 4

Question Number : 180 Question Id : 3944843929 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition



The old man climbed five floors hardly with at all.

(1) No effort
(2) Any effort
(3) Every effort
(4) All effort

Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 181 Question Id : 3944843930 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

ATl the passengers COVID-19 screemng betfore they move to the departure
gates,

(1) Requested to go for
(2) Are requested for going to
(3) Are requested to go for
(4) Have requested for going to
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 182 Question Id : 3944843931 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Switzerland 1s known for its environment

(1) Lugubrious
(2) Salubrious
(3) Vituperative
(4) Unpleasant



Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 183 Question Id : 3944843932 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Sometimes a student’s intelligence is not fully appreciated he/she gets an
opportunity to show it.

(1) If
(2) Whether
(3) Later
(4) Unless
Options :
1. % 1
2. %2
3. %3
4. ¢ 4

Question Number : 184 Question Id : 3944843933 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Child labour 1< one of the eritical socio-economice urgent attention i India,

(1) Issue that need
(2) Issue what need
(3) Issues that need
(4) Issues what needs

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 185 Question Id : 3944843934 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct word/Correct Meaning of the Word/Fill in the Blanks with correct word /Phrase / Verb /
Preposition

Rajni was always ahead of Ramech in studies. However. Ramesh worked hard and
with Rajni.

(1) Caught out
(2) Caught up
(3) Caught on
(4) Caught in

Options :

1. % ]

2.¥2

3. %3

4. % 4

Sub-Section Number : 6
Sub-Section Id : 394484397
Question Shuffling Allowed : Yes

Question Id : 3944843935 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (186 to 190)
Read the following passage and answer questions



We often worry about lying awake in the middle of the night — but it could be good
for you. A growing body of evidence from both science and history suggest that the
eight-hour sleep may be unnatural,

In the carly 1990s. psychiatrist Wehr conducted an experiment in which a group of
people were plunged into darkness for 14 hours every day for a month. It took some
time for their sleep to regulate but by the fourth week the subjects had settled mto a
very distinct sleeping pattern. They slept first for four hours. then woke for one or
two hours before falling into a second four-hour sleep. Though sleep scientists were
impressed by the study. among the general public the idea that we must <leep for eight
consecutive hours persists.

In 2001, historian Roger Ekirch of Virgimia Tech published a seminal paper. drawn
from 16 years of research. revealing a wealth of historical evidence that humans used
to sleep in two distinet chunks. Roger Ekirch says a 1595 engraving by Jan Saenredam
1s evidence of activity at might. His book “At Day’s Close: Night in Times Past.”
published four years later unearths more than 500 references to a segmented sleep
pattern in diaries, court records. medical books and literature. from Homer’s Odyssey
to an anthropological account of modem tribes in Nigeria.

Ekirch found that references to the first and second sleep started to disappear during
the late 17% century. This started among the urban upper classes in northern Europe
and over the course of the next 200 years filtered down to the rest of western socicty.
By the 1920s the idea of a first and second sleep had receded entirely from our social
consciousness. He attributes the initial shift to improvements in street lighting.
domestic lighting and a surge m coffee houses —which were sometimes open all night,
As the night became a place for legitimate activity and as that activity increased the
length of time people could dedicate to rest dwindled.

Sub questions

Question Number : 186 Question Id : 3944843936 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following assumptions is the writer questioning here?

(1) Everyone needs eight hours of continuous sleep

(2) Everyone needs to sleep in darkened rooms

(3) Everyone sleeps well after dusk but wakes up by dawn
(4) Everyone can get good sleep after a tiring day.

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 187 Question Id : 3944843937 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Who conducted sixteen years of research on sleep patterns of people?

(1) Saenredam
(2) Ekirch

(3) Wehr

(4) Homer

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 188 Question Id : 3944843938 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What reasons did Ekrich give to explain reduced periods of rest?

(1) More electricity in public and private places and more coffee hounses.
(2) Greater opportunities to go out anywhere at any tume

(3) Offices extending working through the day and night

(4) Better and safer streets 1n cities.

Options :
1.¥1
2. %2
3. %3
4. % 4

Question Number : 189 Question Id : 3944843939 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Wehr's experiment how long did the people take to adjust to the new sleeping
pattern?

(1) Fourteen hours
(2) Two weeks
(3) Four weeks
(4) Four hours

Options :

1. %1

2.% 2

3.3

4. % 4



Question Number : 190 Question Id : 3944843940 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which word in the passage means the same as ‘hold responsible for™?

(1) Persist
(2) Attribute
(3) Recede
(4) Regulate

Options :

1. %1

2.¥2

3.% 3

4. % 4

Sub-Section Number : 7
Sub-Section Id : 394484398
Question Shuffling Allowed : Yes

Question Id : 3944843941 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No
Question Numbers : (191 to 195)

Read the following passage and answer questions

The United States and Canadian governments are mounting a defence agamnst Russian
mvasion. No. the clock has not been turned back. These invaders are Asian gypsy
moths, foliage-chomping insects that can cause billions of dollars in damage. Experts
believe they entered North America from Russia last year in egg masses attached to
grain vessels. The larger Asian gypsy moth is more voracious feeder than the common
North American strain and can feed on pacific northwest tree species. Unlike the
flightless North American female. an Asian female can fly 20 miles between mating
and egg-laying. The United States Health Inspection Service i¢ barring from west
coast ports ships found carrying ege masses. The Tacoma and Portland areas, as well
as Vancouver. British Columbia has been sprayed with a bio-pesticide.

Sub questions

Question Number : 191 Question Id : 3944843942 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The word *strain’ in the passage means
(1) A tendency in person’s character
(2) An mjury

(3) A distinct breed of an organism
(4) A species

Options :



1. %1
2. %2
3.¥3
4, % 4

Question Number : 192 Question Id : 3944843943 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following words refers to the eating habits of Asian moths?

(1) Voracious
(2) Foliage

(3) Species

(4) Biopesticide

Options :
1.¥ 1
2. %2
3. %3
4. % 4

Question Number : 193 Question Id : 3944843944 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The author calls the merease in Asian gypsy moths as ‘Russian invasion’

(1) To remind reader of Russian invasion
(2) To show dislike for Russia
(3) To make light of serious situation
(4) To emphasize the severity of the problem
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 194 Question Id : 3944843945 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not given in the passage?

(1) Asian gypsy moth came from Russia
(2) Asian gypey moth can’t fly
(3) Asian gypsy moth is capable of feeding on North American trees
(4) North American moth can’t fly
Options :



1. % 1
2.¥2
3. %3
4. % 4

Question Number : 195 Question Id : 3944843946 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The idiom “clocks haven’t turned back™ in the context of the passage means

(1) It 15 an impending future event
(2) It 1s not an impending future event
(3) It 15 a repetition of past events
(4) It 15 not a repetition of past events.

Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 8
Sub-Section Id : 394484399
Question Shuffling Allowed : Yes

Question Id : 3944843947 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (196 to 200)
Read the following passage and answer questions

Most mvestigators concur that certain facial expressions suggest the same emotions
to all people. Moreover. people in diverse cultures recognise the emotions manifested
by the facial expressions. In classic research Paul Ekman took photographs of people
exhibiting the emotions of anger. disgust. fear. happiness and sadness. He then asked
people around the world to indicate what emotions were being depicted in them.
Those queried ranged from European college students to members of the Fore. a tribe
that dwells in the New Guinea highlands., All groups, including the Fore. who had
almost no contact with Western culture, agreed on the portrayed emotions. The Fore
also displayed familiar facial expressions when asked how they would respond if they
were the characters in the stories that called for basic emotional responses. Ekman
and his colleagues more recently obtained similar results m a study of ten cultures in
which participants were permitted to report that multiple emotions were shown by
facial expressions. The participants generally agreed on which two emotions were
being shown and on which emotion was more intense.

Sub questions

Question Number : 196 Question Id : 3944843948 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What does the word ‘concur’ mn the passage refer to?

(1) Estimate
(2) Agree

(3) Expect

(4) Understand

Options :
1. % ]
2.¥2
3.%3
4. % 4

Question Number : 197 Question Id : 3944843949 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the purpose of the experiment?

(1) To explore the range of human emotions

(2) To investigate the nature of tribal emotions

(3) To underscore the commonality in facial expressions for basic emotional
responses across cultures

(4) To analyse emotions m Western cultures

Options :
1. % ]
2. %2
3.3
4. % 4

Question Number : 198 Question Id : 3944843950 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who are members of Fore?

(1) A group of European college students
(2) A group of professional photographers
(3) A group of investigators
(4) Members of tribe belonging to New Guinea
Options :
1. %1
2. %2
3.%3



4.9 4

Question Number : 199 Question Id : 3944843951 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the group of people on whom subsequent researches were conducted to
obtain similar results as earlier?

(1) People from ten cultures

(2) People from Europe and New Guinea
(3) Ekman’s research colleagues

(4) Members of Fore

Options :
1.v1
2. %2
3. %3
4. % 4

Question Number : 200 Question Id : 3944843952 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the additional outcome of subsequent investigation by Ekman?

(1) Validation of the earlier research

(2) Preparation of documentary report

{3) Approval by participants

(4) Agreement on facial expressions reflecting level of intensity of emotion

Options :
1. %1
2. %2
3.%3
4.9 4



